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The three pixels P max, P min and PmidModifying P max to the lowest (K×L + 15) greater than
P max. P min will be the highest (K×L) less than P min.
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Finding z0 (the value can be
embedded) for six pixels

Finding b (number of bits can be
embedded) for all pixels

Finding z for six
pixels
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 Binary code of
watermark data w

will be embedded in
each pixel
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Presenting step 7 as decimal
value t by (t = log2 w)

if P i greater than z, then P ì = z + t
if P i less than z, then P ì = z – t
if P max, then P m̀ax =  P m̀ax + t
if P min, then P m̀in = P m̀in – t
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Watermarked image after

embedding
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Extracting stages
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Modifying P max to to the highest (K×L + 15) less than Pmax and modifying
P min to the lowest (K×L) which is greater than Pmin, then finding z, z0, and b,
and finding t = |Pi – z|, then presenting t by binary and insert it in b number of
digits to find w.
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   Embedding stages

The watermark data (text data i.e., a b  c d e f g h i….)
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